THE GENERALIZED GAMMA FUNCTIONS

TRAN GIA LOC AND TRINH DUC TAI

ABSTRACT. In this paper, we introduce a way to generalize the Euler's gamma function as well as some related special functions. With a given polynomial in one variable $f(t) \geq 0$, we can associate a function, so-called "gamma function associated with f", defined by $\Gamma_f(s) := \int_0^\infty f^{s-1} e^{-t} dt$. This function has many features similar to the Euler's gamma function. We also present some initial results on the gamma-type functional equation for $\Gamma_f(s)$ in some special cases

1. Introduction

The Euler's gamma function is one of the most important special functions, because of its role in various fields. The generalization of this famous function has attracted much attention from many mathematicians and physicists. There are some remarkable achievements.

Barnes has introduced the multiple gamma function by generalizing the representation formula for Hurwitz's zeta function [1, 2]. Post has given another direction to generalize the gamma function via its limit representation [8]. The Vignéras' multiple gamma function has been found by virtue of the Bohr-Morellup theorem [11]. Díaz and Pariguan [4] in 2007 introduced the notion of k-gamma function by generalizing Pochhammer's symbol. Recently M. Mansour [7] showed that the k-gamma function can be characterized as the unique solution of a system of functional equations.

Our approach is slightly different from those of the above authors, which is motivated by a question on the existence of a functional equation verified by the gamma function associated with a polynomial. For a given polynomial f(t), which is always assumed to be positive when t > 0, we define

(1.1)
$$\Gamma_f(s) := \int_0^\infty f(t)^{s-1} e^{-t} dt.$$

The right-hand side of (1.1) is a holomorphic function in the half of complex plane $\Re(s) > 1 - \frac{1}{k}$, where k is the multiplicity of f at t = 0. When f(t) = t, $\Gamma_f(s)$ is nothing but the Euler's gamma function $\Gamma(s)$. It is well-known that $\Gamma(s)$ satisfies the following functional equation

(1.2)
$$\Gamma(s+1) = s\Gamma(s).$$

Received February 10, 2011.

1991 Mathematics Subject Classification. 33B15, 39B32, 39A05.

Key words and phrases. Gamma function, Bernstein-Sato polynomial.

A natural question is that if the gamma function associated $\Gamma_f(s)$ verifies some kind of functional equation, type of (1.2). More concretely, it is expected that there exists a polynomial $\mathcal{B}(s)$ such that the following is true

(1.3)
$$\Gamma_f(s+1) = \mathcal{B}(s)\Gamma_f(s).$$

In general, $\mathcal{B}(s)$ should depend on f and is conjectured to be the Bernstein-Sato polynomial of f. In section 2, we give a positive answer for this question in a very special case where f is a monomial. There we also present some interesting properties of $\Gamma_f(s)$, in comparison with those in [4]. Section 3 is devoted to define zeta and beta functions associated with f. We give a counter-example for the conjecture in the last section.

2. The gamma function associated with $f(t)=t^k$

As usual, a power of complex variable t^z is defined by $t^z := e^{z \ln t}$, where $\ln t$ is the principal value of the logarithm.

Definition 2.1.

$$\Gamma_{t^k}(s) := \int_0^\infty t^{k(s-1)} e^{-t} dt, \quad Res > 1 - \frac{1}{k}.$$

From the above definition, it follows that

Corollary 2.1.1.

- (i) $\Gamma_{t^k}(1) = 1$,
- (ii) $\Gamma_t(s) = \Gamma(s)$, (iii) $\Gamma_{tk}(s) = \Gamma[k(s-1)+1]$.

Bernstein-Sato polynomials. Let K be a field of characteristic zero and s be a parameter. We recall here the so-called Bernstein-Sato polynomial (see [6, p. 235]).

Theorem 2.2. Let $f \in K[x_1, \dots, x_n]$ be a non zero polynomial. There is a polynomial $\mathcal{B}(s) \in K[s]$ and a differential operator $P(x, \frac{\partial}{\partial x}, s) \in A_n(K)[s]$ such that

(2.1)
$$P(x, \frac{\partial}{\partial x}, s)f^{s} = \mathcal{B}(s)f^{s-1}.$$

The set of polynomials $\mathcal{B}(s)$ very fying the equation (2.1) is clearly an ideal of K[s], which is a principal ideal. The Bernstein-Sato polynomial of f is by definition the monic generator of this ideal. Let us denote it by $b_f(s)$ or simply

Example 2.3. We consider a simple example with $f(t) = t^k$, $k \in \mathbb{N}$, k > 0. Then

$$\frac{d}{dt}f^s = kst^{k-1}f^{s-1}.$$

¹Which is posed to us by Prof. Le Dung Trang.

Assume that
$$\frac{d^m}{dt^m}f^s=C_m(s)t^{k-m}f^{s-1}$$
. Hence

$$\frac{d^{m+1}}{dt^{m+1}}f^s = C_m(s)(k-m)t^{k-m-1}f^{s-1} + C_m(s)(s-1)kt^{2k-m-1}f^{s-2}$$
$$= C_m(s)\Big((k-m) + (s-1)k\Big)t^{k-m-1}f^{s-1}.$$

Therefore

(2.2)
$$C_{m+1}(s) = C_m(s)(ks - m).$$

The formula (2.2) gives

$$C_1(s) = ks$$

$$C_2(s) = ks(ks-1)$$

$$C_k(s) = ks(ks-1)(ks-2)\cdots(ks-(k-1)).$$

Therefore,
$$P\Big(t,\frac{d}{dt},s\Big)\big(t^k\big)^s=\mathcal{B}(s)\big(t^k\big)^{s-1}\;,$$
 where $P\Big(t,\frac{d}{dt},s\Big)=\frac{d^k}{dt^k}$ and
$$\mathcal{B}(s):=ks(ks-1)(ks-2)\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-2))\cdots(ks-(ks-1)(ks-1)(ks-1))$$

where
$$P\left(t, \frac{d}{dt}, s\right) = \frac{d^k}{dt^k}$$
 and

$$\mathcal{B}(s) := ks(ks-1)(ks-2)\cdots(ks-(k-1)).$$

As a consequence, the corresponding Bernstein-Sato polynomial is b(s) = s(s - 1)1/k) $(s-2/k)\cdots(s-(k-1)/k)$.

2.1. The properties of Γ_{t^k}

Proposition 2.4.

(2.3)
$$\Gamma_{tk}(s+1) = \mathcal{B}(s)\Gamma_{tk}(s).$$

Proof. Let \mathcal{L} be the Laplace transform which is defined by

$$\mathcal{L}{f(t);\alpha} := \int_0^\infty f(t)e^{-\alpha t}dt, \quad Re\alpha > 0.$$

Then

$$\Gamma_{t^k}(s) = \mathcal{L}\left\{t^{k(s-1)}; 1\right\}.$$

By [3, p. 144] we have

$$\mathcal{L}\{f^{(k)}(t);\alpha\} = \alpha^n \mathcal{L}\{f(t);\alpha\} - \alpha^{n-1}f(0) - \alpha^{n-2}f'(0) - \dots - \alpha f^{(n-2)}(0) - f^{(n-1)}(0).$$

For $f(t) = t^{ks}$ we have

(2.5)
$$f^{(k)}(t) = \frac{d^k}{dt^k} (t^k)^s = \mathcal{B}(s)(t^k)^{s-1}.$$

From (2.4) and (2.5) we have

$$\int_0^\infty t^{ks} e^{-t} dt = \int_0^\infty \mathcal{B}(s)(t^k)^{s-1} e^{-t} dt = \mathcal{B}(s) \int_0^\infty (t^k)^{s-1} e^{-t} dt.$$

It follows that (2.3) is true.

Remark 2.5. The functional equation (2.3) can be put in the form

$$\Gamma_{t^k}(s) = \frac{\Gamma_{t^k}(s+1)}{\mathcal{B}(s)}.$$

By iterating this process, we obtain

$$\Gamma_{t^k}(s) = \frac{\Gamma_{t^k}(s+n)}{\mathcal{B}(s)\cdots\mathcal{B}(s+(n-1))}.$$

Corollary 2.5.1. $\Gamma_{t^k}(s)$ admits an analytic continuation as a meromorphic function with poles on the set:

$$\{s+k \mid s \in \mathbb{C}, k \in \mathbb{N}, \ \mathcal{B}(s+k) = 0\}.$$

Proposition 2.6.

$$\Gamma_{t^k}(s) = \lim_{n \to \infty} \frac{n! n^{k(s-1)+1}}{[k(s-1)+1][k(s-1)+2] \cdots [k(s-1)+(n+1)]}$$

Proof. We have

$$\Gamma_{t^k}(s) = \int_0^\infty t^{k(s-1)} e^{-t} dt = \lim_{n \to \infty} \int_0^n t^{k(s-1)} \Big(1 - \frac{t}{n}\Big)^n dt.$$

By setting $\tau = \frac{t}{n}$, it follows that

$$\Pi(s,n) := \int_0^n t^{k(s-1)} \left(1 - \frac{t}{n}\right)^n dt = n^{k(s-1)+1} \int_0^1 \tau^{k(s-1)} (1 - \tau)^n d\tau.$$

By integration by parts, we have

$$\begin{split} \int_0^1 \tau^{k(s-1)} (1-\tau)^n d\tau &= \frac{\tau^{k(s-1)+1} (1-\tau)^n}{k(s-1)+1} \Big|_0^1 \\ &+ \frac{n}{k(s-1)+1} \int_0^1 \tau^{k(s-1)+1} (1-\tau)^{n-1} d\tau \\ &= \frac{n(n-1)}{[k(s-1)+1][k(s-1)+2]} \int_0^1 \tau^{k(s-1)+2} (1-\tau)^{n-2} d\tau \\ &= \cdots \\ &= \frac{n(n-1)\cdots 2.1}{[k(s-1)+1][k(s-1)+2]\cdots [k(s-1)+n]} \\ &\times \int_0^1 \tau^{k(s-1)+n} d\tau \\ &= \frac{1.2\cdots (n-1)n}{[k(s-1)+1][k(s-1)+2]\cdots [k(s-1)+(n+1)]}. \end{split}$$

So

$$\Pi(s,n) = \frac{1 \cdot 2 \cdots (n-1)n}{[k(s-1)+1][k(s-1)+2] \cdots [k(s-1)+(n+1)]} \cdot n^{k(s-1)+1}$$

and

$$\Gamma_{t^k}(s) = \lim_{n \to \infty} \Pi(s, n).$$

Proposition 2.7.

(2.6)
$$\frac{1}{\Gamma_{t^k}(s)} = [k(s-1)+1]e^{\gamma[k(s-1)+1]} \prod_{n=1}^{\infty} \left(1 + \frac{k(s-1)+1}{n}\right) e^{-\frac{k(s-1)+1}{n}},$$

where
$$\gamma = \lim_{n \to \infty} \left(1 + \frac{1}{2} + \dots + \frac{1}{n} - \log n \right)$$
.

Proof. We have

$$\Pi(s,n) = \frac{e^{[k(s-1)+1]\log n}}{[k(s-1)+1][1+\frac{k(s-1)+1}{1}][1+\frac{k(s-1)+1}{2}]\cdots[1+\frac{k(s-1)+1}{n}]}$$

$$= \frac{e^{[k(s-1)+1]\left(\log n-1-\frac{1}{2}-\cdots-\frac{1}{n}\right)}e^{\left(\frac{k(s-1)+1}{1}+\frac{k(s-1)+1}{2}+\cdots+\frac{k(s-1)+1}{n}\right)}}{[k(s-1)+1][1+\frac{k(s-1)+1}{1}][1+\frac{k(s-1)+1}{2}]\cdots[1+\frac{k(s-1)+1}{n}]}$$

$$= \frac{e^{-\gamma_n[k(s-1)+1]}}{k(s-1)+1}\prod_{i=1}^n\frac{e^{\frac{k(s-1)+1}{i}}}{1+\frac{k(s-1)+1}{i}}.$$

Here γ_n stands for $1 + \frac{1}{2} + \cdots + \frac{1}{n} - \log n$. It follows that

$$\Gamma_{t^k}(s) = \lim_{n \to \infty} \Pi(s, n) = \frac{e^{-\gamma[k(s-1)+1]}}{k(s-1)+1} \prod_{n=1}^{\infty} \frac{e^{\frac{k(s-1)+1}{n}}}{1 + \frac{k(s-1)+1}{n}} .$$

This completes the proof.

Proposition 2.8.

(2.7)
$$\Gamma_{t^k}(s)\Gamma_{t^k}(1-s) = \frac{\pi}{\sin(\pi k s)} \prod_{i=1}^{k-1} \frac{1}{k(s-1)+i}.$$

Proof. We have

$$\Gamma_{t^k}(s) = \int_0^\infty t^{k(s-1)} e^{-t} dt = \Gamma[k(s-1)+1] \text{ and } \Gamma_{t^k}(1-s) = \Gamma(1-ks).$$

On the other hand, we have the well-known functional equation $\Gamma(s)\Gamma(1-s) = \frac{\pi}{\sin(\pi s)}$, therefore

$$\Gamma(ks)\Gamma(1-ks) = \frac{\pi}{\sin[\pi(ks)]}.$$

But

$$\begin{split} \Gamma_{t^k}(s) &= \Gamma\big[k(s-1)+1\big] = \frac{\Gamma\big[k(s-1)+2\big]}{[k(s-1)+1]} = \frac{\Gamma\big[k(s-1)+3\big]}{[k(s-1)+1][k(s-1)+2]} \\ &= \cdots \\ &= \frac{\Gamma\big[k(s-1)+k\big]}{[k(s-1)+1][k(s-1)+2]\cdots[k(s-1)+(k-1)]} \\ &= \Gamma(ks) \prod_{i=1}^{k-1} \frac{1}{[k(s-1)+i]} \cdot \end{split}$$

So

$$\Gamma_{t^k}(s)\Gamma_{t^k}(1-s) = \Gamma(ks)\Gamma(1-ks)\prod_{i=1}^{k-1}\frac{1}{[k(s-1)+i]} = \frac{\pi}{\sin\left(\pi ks\right)}\prod_{i=1}^{k-1}\frac{1}{k(s-1)+i}.$$

This completes the proof.

Remark 2.9. Through the above results, we can conclude that the gamma function associated to $f(t) = t^k$ has almost properties similar to the Euler's gamma function. In particular, the functional equation (1.3) is true in this case.

2.2. Asymptotic expansion of Γ_{t^k} . We recall here a classical result on asymptotic expansion which can be found in [5].

Theorem 2.10. Assume that $f:(a,b) \longrightarrow \mathbb{R}$, with $a, b \in [0,+\infty)$ attains a global minimum at a unique point $c \in (a,b)$, such that f''(c) > 0. Then one has

(2.8)
$$\int_{a}^{b} g(x)e^{-\frac{f(x)}{h}}dx = h^{\frac{1}{2}}e^{-\frac{f(c)}{h}}\sqrt{2\pi}\frac{g(c)}{\sqrt{f''(c)}} + O(h).$$

The below proposition gives us the asymptotic behavior of Γ_{tk} .

Proposition 2.11. For Res > 0, the following identity holds

$$\Gamma_{t^k}(s) = \frac{(2\pi)^{\frac{1}{2}} (ks)^{ks+\frac{1}{2}}}{\mathcal{B}(s)} e^{-ks} + O\left(\frac{1}{s}\right).$$

Proof. We have

$$\Gamma_{t^k}(s+1) = \int_0^\infty t^{ks} e^{-t} dt.$$

By making the change of variable $t = s\omega$ we have

$$\Gamma_{t^k}(s+1) = s^{ks+1} \int_0^\infty \omega^{ks} e^{-s\omega} d\omega = s^{ks+1} \int_0^\infty e^{-s(\omega - k \log \omega)} d\omega.$$

Let $f(\omega) = \omega - k \log \omega$. Clearly $f'(\omega) = 0$ if and only if $\omega = k$. On the other hand $f''(k) = k^{-1} > 0$. From (2.8), we have

$$\int_0^\infty e^{-s(\omega - k \log \omega)} d\omega = \left(\frac{1}{s}\right)^{\frac{1}{2}} \cdot e^{-\frac{k - k \log k}{\frac{1}{s}}} \sqrt{2\pi} \frac{1}{\sqrt{k^{-1}}} + O\left(\frac{1}{s}\right)$$
$$= \frac{(2\pi)^{\frac{1}{2}}}{s^{\frac{1}{2}}} k^{ks + \frac{1}{2}} e^{-ks} + O\left(\frac{1}{s}\right).$$

Therefore

$$\Gamma_{t^k}(s+1) = (2\pi)^{\frac{1}{2}} s^{ks+\frac{1}{2}} k^{ks+\frac{1}{2}} e^{-ks} + O\left(\frac{1}{s}\right).$$

By virtue of (2.3), we complete the proof.

2.3. The relation between Γ_{t^k} and Γ_k . The function Γ_k (k > 0), which is called the k-gamma function, is defined by (see [4])

$$\Gamma_k(s) := \int_0^\infty t^{s-1} e^{-\frac{t^k}{k}} dt ,$$

where $s \in \mathbb{C}$, Res > 0. The following proposition shows the close relation between our gamma function Γ_{t^k} and this k-gamma function.

Proposition 2.12.

(2.9)
$$\Gamma_{t^k}(s) = \frac{k^{ks}s}{\mathcal{B}(s)} \Gamma_{\frac{1}{k}}(s).$$

Proof. We have

$$\Gamma_{t^k}(s) = \int_0^\infty t^{k(s-1)} e^{-t} dt.$$

By making the change of variable $t = k\omega^{\frac{1}{k}}$ we get

$$\Gamma_{t^k}(s) = k^{k(s-1)} \int_0^\infty \omega^{\left(s-1+\frac{1}{k}\right)-1} e^{-\left(\frac{\omega^{\frac{1}{k}}}{k}\right)} d\omega = k^{k(s-1)} \Gamma_{\frac{1}{k}} \left(s-1+\frac{1}{k}\right).$$

By replacing s with s + 1, we have

(2.10)
$$\Gamma_{t^k}(s+1) = k^{ks} \Gamma_{\frac{1}{k}} \left(s + \frac{1}{k} \right).$$

On the other hand, by [4, p. 183]

(2.11)
$$\Gamma_k(s+k) = s\Gamma_k(s).$$

From (2.3), (2.10) and (2.11), it follows that

$$\mathcal{B}(s)\Gamma_{t^k}(s) = k^{ks} s.\Gamma_{\frac{1}{h}}(s).$$

This completes the proof.

Proposition 2.13.

$$\Gamma_{t^k}(s).\Gamma_{t^k}\left(\frac{1}{k}-s\right) = \frac{s(1-ks)}{\mathcal{B}(s)\mathcal{B}\left(\frac{1}{k}-s\right)}.\frac{\pi}{\sin(\pi ks)}.$$

Proof. By [4, p. 183]

$$\Gamma_k(s)\Gamma_k(k-s) = \frac{\pi}{\sin\left(\frac{\pi s}{k}\right)}.$$

By replacing k with $\frac{1}{k}$, we have

$$\Gamma_{\frac{1}{k}}(s).\Gamma_{\frac{1}{k}}\left(\frac{1}{k}-s\right) = \frac{\pi}{\sin(\pi ks)}.$$

It follows from (2.9) that

$$\Gamma_{\frac{1}{k}}(s) = \frac{\mathcal{B}(s)\Gamma_{t^k}(s)}{k^{ks}s} \quad \text{and} \quad \Gamma_{\frac{1}{k}}\left(\frac{1}{k} - s\right) = \frac{\mathcal{B}\left(\frac{1}{k} - s\right)\Gamma_{t^k}\left(\frac{1}{k} - s\right)}{k^{k\left(\frac{1}{k} - s\right)}\left(\frac{1}{k} - s\right)}.$$

Then

$$\frac{\mathcal{B}(s)}{k^{ks}s} \cdot \frac{\mathcal{B}\left(\frac{1}{k} - s\right)}{k^{1-ks}\left(\frac{1}{k} - s\right)} \cdot \Gamma_{t^k}(s) \cdot \Gamma_{t^k}\left(\frac{1}{k} - s\right) = \frac{\pi}{\sin(\pi ks)}.$$

Hence, we obtain

$$\frac{\mathcal{B}(s)\mathcal{B}\left(\frac{1}{k}-s\right)}{s(1-ks)}.\Gamma_{t^k}(s).\Gamma_{t^k}\left(\frac{1}{k}-s\right) = \frac{\pi}{\sin(\pi ks)}.$$

This completes the proof.

3. Generalized Zeta and Beta functions

In this section we define f-Beta and f-Zeta functions associated with a polynomial f. For $f(t) = t^k$, we prove that they have many properties similar to those of classical Zeta and Beta functions.

The Zeta function is studied first by L. Euler, who considered only real values of s. The notion of $\zeta(s)$ as a function of the complex variable s is due to B. Riemann. The Riemann zeta function is defined by

$$\zeta(s) = \sum_{n=1}^{\infty} \frac{1}{n^s}, \quad Res > 1.$$

We have the well-known functional equation

$$\zeta(s) = \frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} (1 - e^{-t})^{-1} e^{-t} dt.$$

Hurwitz's zeta function is defined by

$$\zeta_H(s,a) := \sum_{n=0}^{\infty} \frac{1}{(n+a)^s}, \quad Res > 1, \ a \neq 0, -1, -2, \dots$$

This is a generalization of the Riemann zeta function, and we also have the well-known similar functional equation

$$\zeta_H(s,a) = \frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} (1 - e^{-t})^{-1} e^{-at} dt.$$

The Beta function or Euler integral of the first kind is defined by

$$B(p,q) := \int_0^1 t^{p-1} (1-t)^{q-1} dt, \quad Re(p) > 0, \ Re(q) > 0.$$

We have (see [9])

$$B(p,q) = \frac{\Gamma(p)\Gamma(q)}{\Gamma(p+q)}.$$

3.1. f-Beta and f-Zeta functions. Let f be a polynomial, f-Beta and f-Zeta functions are defined by

Definition 3.1.

$$B_f(p,q) := \frac{\Gamma_f(p)\Gamma_f(q)}{\Gamma_f(p+q)}, \quad Re(p) > 0, \ Re(q) > 0.$$

$$\zeta_f(s) := \frac{1}{\Gamma_f(s)} \int_0^\infty f^{s-1} (1 - e^{-t})^{-1} e^{-t} dt, \quad Res > 1.$$

From the above definition, we have the below proposition.

Proposition 3.2.

(3.1)
$$\zeta_f(s)\Gamma_f(s) = \sum_{n=0}^{\infty} \int_0^{\infty} f^{s-1} e^{-(n+1)t} dt.$$

Proof. Since $(1 - e^{-t})^{-1} = \sum_{n=0}^{\infty} e^{-nt}$,

$$\zeta_f(s)\Gamma_f(s) = \int_0^\infty f^{s-1} \Big(\sum_{n=0}^\infty e^{-nt} \Big) e^{-t} dt = \sum_{n=0}^\infty \int_0^\infty f^{s-1} e^{-(n+1)t} dt.$$

3.2. f-Beta and f-Zeta functions in case $f(t) = t^k$. Let $f(t) = t^k$, with $k \in \mathbb{N}, \ k > 0$. Then t^k -Beta and t^k -Zeta are defined by

(3.2)
$$B_{t^k}(p,q) = \frac{\Gamma_{t^k}(p)\Gamma_{t^k}(q)}{\Gamma_{t^k}(p+q)}, \quad Re(p) > 0, \ Re(q) > 0,$$

$$\zeta_{t^k}(s) := \frac{1}{\Gamma_{t^k}(s)} \int_0^\infty t^{k(s-1)} (1 - e^{-t})^{-1} e^{-t} dt, \quad Res > 1.$$

From (3.1) we have the corollary.

Corollary 3.2.1.

(3.3)
$$\zeta_{t^k}(s)\Gamma_{t^k}(s) = \sum_{n=0}^{\infty} \int_0^{\infty} t^{k(s-1)} e^{-(n+1)t} dt.$$

The below proposition gives a relation between function ζ_{t^k} and Riemann zeta function.

Proposition 3.3.

$$\zeta_{t^k}(s) = \zeta [k(s-1) + 1].$$

Proof. By making the change of variable $\omega = (n+1)t$ in (3.3), we have

$$\begin{split} \zeta_{t^k}(s)\Gamma_{t^k}(s) &= \sum_{n=0}^{\infty} \frac{1}{(n+1)^{k(s-1)+1}} \int_{0}^{\infty} \omega^{k(s-1)} e^{-\omega} d\omega \\ &= \Gamma_{t^k}(s) \sum_{n=0}^{\infty} \frac{1}{(n+1)^{k(s-1)+1}} \\ &= \Gamma_{t^k}(s) \sum_{n=1}^{\infty} \frac{1}{n^{k(s-1)+1}} \\ &= \Gamma_{t^k}(s).\zeta \big[k(s-1)+1 \big]. \end{split}$$

This proves the proposition.

Proposition 3.4.

$$B_{t^k}(p,q) = \frac{kpq}{p+q} \cdot \frac{\mathcal{B}(p+q)}{\mathcal{B}(p)\mathcal{B}(q)} \cdot B(kp,kq).$$

Proof. From (2.9) and (3.2), we have

$$B_{t^k}(p,q) = \frac{\frac{pk^{kp}}{\mathcal{B}(p)} \Gamma_{\frac{1}{k}}(p) \frac{qk^{kq}}{\mathcal{B}(q)} \Gamma_{\frac{1}{k}}(q)}{\frac{(p+q)k^{k(p+q)}}{\mathcal{B}(p+q)} \Gamma_{\frac{1}{k}}(p+q)} = \frac{pq}{p+q} \cdot \frac{\mathcal{B}(p+q)}{\mathcal{B}(p)\mathcal{B}(q)} \cdot \frac{\Gamma_{\frac{1}{k}}(p)\Gamma_{\frac{1}{k}}(q)}{\Gamma_{\frac{1}{k}}(p+q)} \cdot \frac{\Gamma_{\frac{1}{k}}(p)\Gamma_{\frac{1}{k}}(q)}{\Gamma_{\frac{1}{k}}(p+q)} \cdot \frac{P_{\frac{1}{k}}(p+q)}{\mathcal{B}(p+q)} \cdot \frac{P_{\frac{1}{k}}(p)\Gamma_{\frac{1}{k}}(q)}{P_{\frac{1}{k}}(p+q)} \cdot \frac{P_{\frac{1}{k}}(p+q)}{P_{\frac{1}{k}}(p+q)} \cdot \frac{P_{\frac{1}{k}}(p+q)}{P_{\frac{1}{k}}(p$$

By [7, p. 187]

$$B_k(p,q) = \frac{\Gamma_k(p)\Gamma_k(q)}{\Gamma_k(p+q)}$$
 and $B_k(p,q) = \frac{1}{k}B\left(\frac{p}{k},\frac{q}{k}\right).$

So

$$B_{t^k}(p,q) = \frac{pq}{p+q} \cdot \frac{\mathcal{B}(p+q)}{\mathcal{B}(p)\mathcal{B}(q)} \cdot B_{\frac{1}{k}}(p,q) = \frac{pq}{p+q} \cdot \frac{\mathcal{B}(p+q)}{\mathcal{B}(p)\mathcal{B}(q)} \cdot kB(kp,kq).$$

The proof is complete.

4. A functional equation for Γ_f for a quadratic polynomial

In this section, we consider the quadratic case as a counter example for the truth of (1.3). Let $f(t) = t^2 + bt + c$. Then

$$\begin{split} \frac{d}{dt}f^s &= s(2t+b)(t^2+bt+c)^{s-1} = s(2t+b)f^{s-1} \\ \frac{d^2}{dt^2}f^s &= 2sf^{s-1} + s(s-1)(2t+b)^2f^{s-2} \\ &= 2sf^{s-1} + s(s-1)(4t^2+4bt+b^2)f^{s-2} \\ &= 2sf^{s-1} + s(s-1)\left[4(t^2+4bt+c) + (b^2-4c)\right]f^{s-2} \\ &= 2s(2s-1)f^{s-1} + (b^2-4c)s(s-1)f^{s-2}. \end{split}$$

Therefore

$$\left[(t^2 + bt + c) \frac{d^2}{dt^2} - 2s(2s - 1) \right] f^s = (b^2 - 4c)s(s - 1)f^{s-1}.$$

So

$$P(t, s, \frac{d}{dt}) = [(t^2 + bt + c)\frac{d^2}{dt^2} - 2s(2s - 1)]$$
 and $\mathcal{B}(s) = (b^2 - 4c)s(s - 1)$

Consider the function

$$\Gamma_f(s) = \int_0^\infty (t^2 + bt + c)^{s-1} e^{-t} dt.$$

We have

$$\begin{split} \mathcal{B}(s)\Gamma_f(s) &= \int_0^\infty \mathcal{B}(s)(t^2+bt+c)^{s-1}e^{-t}dt \\ &= \int_0^\infty \left[(t^2+bt+c)\frac{d^2}{dt^2} - 2s(2s-1) \right](t^2+bt+c)^s e^{-t}dt \\ &= \int_0^\infty (t^2+bt+c)^s \left[(t^2+bt+c)\frac{d^2}{dt^2} - 2s(2s-1) \right]^* e^{-t}dt \\ &= \int_0^\infty (t^2+bt+c)^s \left[\frac{d^2}{dt^2}(t^2+bt+c)e^{-t} - 2s(2s-1)e^{-t} \right]dt \\ &= \int_0^\infty f^s \left[2e^{-t} - (2t+b)e^{-t} - (2t+b)e^{-t} + (t^2+bt+c)e^{-t} \right. \\ &\qquad \left. - 2s(2s-1)e^{-t} \right]dt \\ &= \int_0^\infty f^s \left[(t^2+bt+c) - 2(2t+b) + 2 - 2s(2s-1) \right] e^{-t}dt \\ &= \int_0^\infty f^{s+1}e^{-t}dt - 2(s-1)(2s+1) \int_0^\infty f^s e^{-t}dt \\ &= 2\int_0^\infty (2t+b)(t^2+bt+c)^s e^{-t}dt \\ &= \Gamma_f(s+2) - 2(s-1)(2s+1)\Gamma_f(s+1) \\ &- 2\int_0^\infty (2t+b)(t^2+bt+c)^s e^{-t}dt. \end{split}$$

By integration by parts $(u = e^{-t}, dv = (2t + b)(t^2 + bt + c)^s dt)$, we have

$$\begin{split} \mathcal{B}(s)\Gamma_f(s) &= \Gamma_f(s+2) - 2(s-1)(2s+1)\Gamma_f(s+1) - \\ &- 2\Big[\frac{(t^2+bt+c)^{s+1}}{s+1}e^{-t}\Big|_0^\infty + \frac{1}{s+1}\int_0^\infty (t^2+bt+c)^{s+1}e^{-t}dt\Big] \\ &= \Gamma_f(s+2) - 2(s-1)(2s+1)\Gamma_f(s+1) + \frac{2c^{s+1}}{s+1} - \frac{2}{s+1}\Gamma_f(s+2). \end{split}$$

So we get the proposition.

Proposition 4.1.

$$(4.1) \quad \left(1 - \frac{2}{s+1}\right)\Gamma_f(s+2) = \mathcal{B}(s)\Gamma_f(s) + 2(s-1)(2s+1)\Gamma_f(s+1) + \frac{2c^{s+1}}{s+1}.$$

Remark 4.2. The functional equation (4.1) is a type of second-order difference equation and impossible to be reduced to that of first order as (1.3). In general, the functional equation (1.3) is not true for any polynomial. Meanwhile, we guess that for a generic polynomial f(t), the gamma function associated to $\Gamma_f(s)$ must satisfy a difference equation whose order is at most the degree of f.

ACKNOWLEDGMENTS

This paper is supported by Vietnam National Foundation for Science and Technology Development (NAFOSTED). We would like to thank Professor Lê Dũng Tráng for his valuable suggestions on this paper.

References

- [1] E. W. Barnes, The theory of G-function, Quat. J. Math. 31 (1899), 264-314.
- [2] E. W. Barnes, On the theory of the multiple gamma functions, Trans. Cambridge. Phil. Soc. 19 (1904), 374-425.
- [3] L. Debnath and D. Bhatta, *Integral Transforms and Their Applications*, Chapman & Hall/CRC, 2007.
- [4] R. Díaz and E. Pariguan, On hypergeometric functions and Pochhammer k-symbol, Divulgaciones Matemáticas 15(2) (2007), 179-192.
- [5] P. Etingof, Mathematical ideas and notions of quantum field theory, Preprint.
- [6] M. Granger, Bernstein-Sato Polynomials and Functional Equations, Algebraic Approach to Differential Equations. Bibliotheca Alexandrina, Alexandria, Egypt 12-24 November 2007. Copyright 2010, ICTP.
- [7] M. Mansour, Determining the k-generalized gamma function $\Gamma_k(x)$ by functional equations, Int. J. Contemp. Math. Sciences 4(21) (2009), 1037-1042.
- [8] E. L. Post, The Generalized Gamma Functions, Ann. Math. 20(2) (1919), 202-217.
- [9] E. D. Rainville, Special Functions, The Macmillan Company, 1960.
- [10] I. Vardi, Determinants of laplacians and multiple gamma functions, SIAM. J. Math. Anal. 19 (1988), 493-507.
- [11] M. F. Vignéras, L'équation fonctionalie de la fonction zeta de selberg de groupe modulaire PSL(2,Z), *Asterisque* **61** (1979), 235-249.
- [12] A. Voros, Spectral functions, special functions and the selberg zeta functions, Comm. Math. Phys. 110 (1987), 431-465.
- [13] E. T. Whittaker and G. N. Watson, A course of modern analysis, Cambridge University Press, 1963.

THE TEACHER TRAINING COLLEGE OF DALAT,

29 Yersin, Dalat, Vietnam

E-mail address: gialoc@gmail.com

THE TEACHER TRAINING COLLEGE OF DALAT,

29 Yersin, Dalat, Vietnam

 $E ext{-}mail\ address: tductai@gmail.com}$